KEHER -

3

il

co gl ).,

RAEREE i

ERMERE 06114 &

2025 £ 1 A 20 B |

?340-003‘5':"@&1%{?5?#5%4
— B RIEN | PR R
mEE A

P

mmm*mﬁﬁa &#Ewk%soaa%

RERERFEIE ok KN i
' : | 49 RIF K GBWfRAKR) ; g il
B | AGEFEE BAGE S e B
: H 12025 % 1 A 156 H L - E=x B T
[ & 2025 €1 B 15 H ~ 2025 ﬂi 0 2 = ; B F= 12 =H
2iri e =E e “‘3 _.d I ] Inhil! 749 C -'.‘- i dx-.. Byl 5 (E) 0.4 mg/L
E B 7 B | B e '}'ﬁl sl e e : | RBBRERER
s ?b77m:;; ity RO el
— XA 0 /mL o Ayl 5= AN L
= 3 F)soo il _"m I ELP2Y: SN (.
= KA =35 TFLL il W —\‘,m“,\ b B Mo Ay A
— —[BFFIUARC | _ _ _ _ __ KN ““u i, ARG ;
iﬂi)ﬂ:A% _____ e ‘,Hmw |wr 5 %0_314//5_}% 0. 005 mg/LAT
o S o . 10.3 mg/L
- : —_— v rE=Y LN NN
2ol = T {2 — R () |
P e ====== 7.- 577 . = mrTmie =T
zofeetn | = A 2L FRAE :
EREY BSOS oo = e T R I e Rt f)‘gm = == K
PN =o el CU/uuEifg | 0290 =====-= R 2 == “_.___:_____:____ ===
NMEizas | O EE = Y7uEsnn L T o :'\ =
Lot T Ay T
____________ 2-AF A
EMEBEER | 2 =====-= ,“%;,“ [H\H“‘ ‘‘‘‘‘‘ R R A — At
5/7‘/“:%47‘]—:/ =5 ESE = 4 b = = #/(j_r/ﬂﬁ — ';-z_-z___ =3
R T | m ‘) U‘My! M ==
Eﬁ@@é"%iﬁw W B e 28 e Hl’“;“: = == = - ) — = :-= ==
BRE R 1ot W) gepme | U AT
ZETE D 50 SRRl (ERRS Ty e FuESran T HHsw) (S ]
ofam | "7 e T v om helns
71?'7%&(): s= a2 = 7 w!‘!;!hf .=: ﬁ === =
rofkaw | T°°°°7 7\:%7}:/])}# i p HiE 6.9
g T T
Eliﬁﬂ:fi% i SR RLAT LT E MMM !”\MHH“: S === 3 BEi L
il i M !
Al meA R : ]
=k : == =E=== = = : A o
|14 /ﬁ"#ﬁ/ Yo = £ X BERL
|l d """*‘”&U’ ______ FAI =7 AR —— ;
e pmetlll TIE T T T ZOILEY =St e 0.5 BRI
. . & _7__'.._ e <
= FAAon 0.03 mg/]_—i@ﬁf ﬁ_ﬁ 0.1 BEskTs
mﬁﬁﬁ_owrmmﬁgﬁkﬁA

REFE PRI BESE BT H015
. EERK —OBEREE BITO VW LET

() MR R AT ERT S ER



